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Across 31 More than 55 Parentona 9 Insects’
1Knee-length enough field trip, say oothecae
swimtrunks 34 Jimmy,e.g. 58 Unexpected 10 Onceinablue
5 Flavoringfor 35 “| Got You problem moon
springerle Babe,” for 59 “Youreally 11 Resolved
cookies example mean it?” .
. 12 Sharif of
10 Wastehauler 36 Mustang 60 Tire,ona “Doctor
14 “Hard__1” mom citroen Zhivago”
(tacking 37 Church 61 Eye sleazily 13 Cantonese
command) centers 62 Fuming cook’s
15 Bestsellin . collection
novel of19924 > S(tj(()jner 63 J_ohn Irving
address title character 18 Past paunchy
16 Furry falsetto ifein bri
ofT\); 39 Lifein brief Down 23 Atanytime
40 lllustrious ! o
17 Making music 1 E.dVY.ar(g; 25 Pitching goal
41 Reach rvalinthe
19 Reporter’s perfection Twilight 26 Kept for later
source series )
’ 42 Wicked 28 Carpenter’s
sometimes 2 Island slope
20 “Ymontoyour 44 Carry-onspot greeting 29 Inthe
gamenow!” 45 Kilt features 3 In-box stack altogether

21 Roots forthe
chef

22 Emblems of
Lebanon

24 Backrow ofa
choir, perhaps

26 Relish

27 Mar’s
underling

28 Diamond trio

46 Magistrate of
ancient Rome

50 Homes

52 Where to
spendakip

53 Browning,
Byron or Blake

54 Sister of
Maggie and
Bart

4 Fallmo.

5 Balance sheet
listing

6 Staff
markings

7 Birdwitha
down-curved
bill

8 Gluttonyor
greed

» Solve this puzzle online and discuss it at WSJ.com/Puzzles.

30 Many acamp
counselor

31 Onboth
sides, in
combinations

32 Seriously
wound

33 Often
elaborate
high school
invitation

34 Monksinthe
mountains

37 McElhone of
“The Truman
Show”

38 Clamors
40 Unoccupied

41 Salon
treatment

43 Geriatrics
focus

44 P-Funk’s
Collins

46 Bankjob

47 “Once___
time..”

48 Antisocial
sort

49 Prepareto
drive,anda
hint to making
sense of six
pairs of
Across
answers

50 Plus

51 Cherry
variety

52 “M” director
Fritz

56 Sweetie

57 World of
Warcraft or
Final Fantasy,
e.g.. Abbr.
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